CSCB63 TUT4 WEEK2
andrewyk.leung@mail.utoronto.ca
https://snoopysnipe.github.io/ta/b63w21/

HANDOUT:
https://mathlab.utsc.utoronto.ca/bretscher/b63/tutorials/w2.pdf
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{Remember that Ig means log base 2.)

In each cell, fill in "Y" iff {its row function)& (Xits column function).

Fill in proofs for selected big-O cells: Some practice questions:

. m € O(nlg(n)), using the definition of big-O:

§,.7 % 5
nlgin) ¢ Oin) using the definition of big-O: (Note: This can be explained as a proof by contradic- L 6" +n”—n € B(n)
tion...other ways possible too).

=]

2. 3n? —d4n £ Qn?)

3. 2% ¢ ¢)2"), using a limit theorem from lecture (you may not have seen the limit theorem if your
tutorial is before the Wed. class).
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Additional Notes:
Recall logarithms are related to
each other by some constant
thanks to the change of base
formula: logp(x) = logc(x) / logc(b)
Which is why we were able to easily
conclude that Ig(n) in O(In(n)) and
In(n) in O(Ig(n)).



